N & 0l & Av S Z M A
P020EE £ 2 8 SRSNLAB2ASHIN M
SN B#ZRED
Za: Mol+E +EBRl AZet RE
SR MAEESTY B (SHSHLBHRISEH) CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
B#AL5 5,720,303 4,544,671 1,175,632
= 156,022 156,022 0
2 5,564,281 4,388,649 1,175,632
NBtAT £EBE ATet PE 783,739 4,455,695 ~3,671,956
= 156,022 156,022 0
2 627,717 4,299,673 ~3,671,956
A4ABSTY Mo (SFSYLABASHH) 783,739 4,455,695 ~3,671,956
= 156,022 156,022 0
2 627,717 4,299,673 ~3,671,956
235 NEHY 285,079 300,079 A 15,000
101 1218 35,500 31,500 4,000
YBIEEESVETPS 35,500 31,500 4,000
OS%s AN0S S A 35,500 31,500 4,000
201 Lt 2| 109,079 120,079 A 11,000
01 At 22l bl 33,520 44,520 A 11,000
0S¥ =8 A&2 Fu| 2,000 8,000 6,000
oM SNl AZETL(0HIE) 10,000 10,000 0
OBINA |2l 428 29 5,000 10,000 5,000
401 A& HIL ST 82,000 90,000 £8,000
01 Al& I 82,000 90,000 8,000
O#=H M2 7Y 22,000 30,000 £8,000
SHEBANDSAL 29 163,950 315,552 A 151,602
101 1218l 11,086 56,688 £45,602
VSR EESETEPS 11,086 56,688 45,602
OJIZHZEANE S (Hder2el) 0 28,344 N28,344
=3 0 16,700 A16,700
— 4013 0 5,567 A5,567
- R2F8+Y 0 3,541 A3,541
— oixiag 0 1,336 A 1,336
— YFEIH 0 1,200 A1,200
OJNAHI2RES(HAR2) 11,086 28,344 A17,258
- Jl== 7,348 16,700 AN9,352
- 1,534 5,567 £4,033
- R2FE+Y 1,270 3,541 ~2,271
— oxay 334 1,336 A 1,002
— YEFEIH 600 1,200 A600
201 et HH| 94,864 158,864 64,000
01 At 22l bl 46,680 101,680 55,000
ONSEE 7Y L RN 24 5,000 35,000 230,000
OBANPL 2Y2E 7Y 10,000 35,000 £25,000
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2N BFLED
HE: Mt4T $EBR AZe 1E
SRl H4RBESRY 2 (SHSHLBBRSEEN) CERED

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2

EEETT 48, 184 57, 184 9,000

OAN&sS HII1E8Z 1,000 10,000 A9,000
401 NEHIL 2 THYI 22,000 50,000 28,000
01 Al& bl 22,000 50,000 228,000
OBFDEAE NS4 22,000 50,000 £.28,000
405 Tt &HF St 16,000 30,000 A14,000
01 T 2B S 16,000 30,000 A14,000
ORIl 2 2,000 4,000 £2,000
ONSEE & J1J17Y 8,000 20,000 ~12,000
SHSHLARBS2Y MU0 NBAY 233,889 226,889 7,000
= 156,022 156,022 0

= 77,867 70,867 7,000

101 21248 210,895 206,895 4,000
= 144,826 144,826 0

2 66,069 62,069 4,000

YBIENEESETP 210,895 206,895 4,000
OSHS4+ANA0l A2 210,895 206,895 4,000

< 144,826 144,826 0

2 66,069 62,069 4,000

201 Yer2 | 22,994 19,994 3,000
< 1,196 1,196 0

2 1,798 8,798 3,000

01 AbR 22l 7,000 4,000 3,000
OSHEH4+ANY0 2FSE 2 2,000 0 2,000
OSHSL+ANA0 BSHY ZAH N 1,000 0 1,000

ol bl bl 42,701 3,555,055 £3,512,354
801 0t I 42,701 3,555,055 £3,512,354
01 2 8ol bl bl 42,701 3,555,055 £3,512,354

O EIET 42,701 3,555,055 £3,512,354

WRES(HFESD) 4,810,766 766 4,810,000

HEHHNE(SHESLLABRISEE) (S HE L 4,810,000 0 4,810,000
=EEEEPT)

JIEtEI RSB 4,810,000 0 4,810,000
704 03 4,810,000 0 4,810,000
NEEE 4,810,000 0 4,810,000

OSEWHAIEIIZ W2 4,810,000 0 4,810,000
HH2 AU (B RED]) 125,798 88,210 37,588
U2 (S HEALRBRSHEH) 125,798 88,210 37,588

SFsasABS AR dA2Y 125,798 88,210 37,588

101 21248l 125,798 88,210 37,588
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